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Introduction: Why do we need Competition Policy?

As we have seen in our earlier studies the more competitive market, the more efficient the market should be. We saw in the long-run that perfect competition brings both productive and allocative efficiency and should be in the interests of consumers with lower price and a greater quantity and quality. 
However, competition policy’s aim is not to create perfect competition. Indeed as we saw monopolies can be in the interests of consumers if they gain economies of scale, provide exports for the UK economy and invest profits in R&D in order to boost dynamic efficiency. Moreover, it would be unrealistic to aim for perfect competition as this is only a theoretical extreme and no examples really exist in reality, we could only move towards perfect competition. 

Therefore the competition authorities aim to protect the public interest rather than aiming for a particular market structure. If one dominant firm is in the public interest then there is no issue. However, if a firm abuses their dominance, through anti-competitive practices then the authorities will intervene. 
The Public Interest
When considering the public interest, the Competition Commission will take into account, “all matters which appear to them relevant.” This will include the following 5 points:

· Maintaining and promoting competition in the UK

· Promoting the interests of consumers

· Promoting the development of new products and the reduction of costs

· Maintaining and promoting the balanced distribution of industry and employment

· Maintaining and promoting competitive activity by UK companies in overseas markets

The main part of the public interest is to ensure that consumers’ interests are protected. Therefore a firm is in the public interest if:

· There are high quality products

· There is a wide range of choice for them

· Competitive pricing is employed and costs are low

· There is availability of supplies (geographically)

· They are providing employment opportunities 

The Competition and Markets Authority (CMA)

The Competition and Markets Authority has taken on the responsibility of the previous OFT and the Competition Commission. Their aim is to “promote competition for the benefit of consumers, both within and outside the UK... [and] to make markets work well for consumers, businesses and the economy.”
In 1998, the Competition Act brought the UK and EU competition into line. The CMA must ensure firms are operating within these competition laws.

Responsibilities of UK Competition Authorities 
Their responsibilities are:

1. Investigating Mergers: mergers where the market share would be above 25% market share are investigated and then they will only be allowed if significant competition would still remain in the market.  

2. Investigating Anti-Competitive Behaviour and Abuse of Dominant Positions: the CMA conducts market studies and investigations into industries where there are both dominant firms in the market (over 25% market share) and firms are believed to be abusing their monopoly power (i.e. against UK/EU competition law). This could include:
a) Predatory pricing: pricing below AVC in order to force rivals out
b) Vertical constraints: abuse of suppliers, such as monopsony power 
c) Other abuses of monopoly power: such as higher pricing 
3. Investigate Restrictive Practices: the CMA will investigate potential collusive activities such as tacit collusion, overt collusion (cartels), sharing of markets and collusive tendering in bidding for contracts. 

4. Enforcing Consumer Protection Laws: the CMA has taken over the OFT’s role to ensure consumer protection law, such as the Trade Description Act, so that customers rights are protected. 

5. Working with Industry Regulators: co-operating with industry regulators, such as OFWAT, and encouraging them to use their competition powers they have (more on this under regulation). 

Any cases that are brought to the CMA have a right to appeal and this is the final responsibility of the CMA.   

Powers of the UK Competition Authorities 
If abuse of dominance is found then the UK competition authorities can impose the following sanctions:

· Order the practice to stop 

· Disallow the merger request  

· Company fines (up to 10% of sales revenue)

· Individual fines 

· Individual prosecution i.e. imprisonment 

· Ability to force sales of assets
Evaluating the Success of Competition Policy
The case for competition policy is that:

· Fines and other penalties ensure that there is competition

· Fear of action by competition authorities may prevent anticompetitive behaviour (i.e. deterrent effect)
· Risk of bad publicity might ensure that firms do not restrict competition

Therefore the public interest is promoted and consumers are being protected. This can be seen in cases that have successfully been brought by the competition authorities, as seen in the previous pages of the handout. 

However, there are some limitations to competition policy, such as:
· Time Taken: the large scale of the investigations undertaken by the Competition Commission can be detrimental. This could mean abuse of power could be continuing during the investigation and that the public interest is only protected in the long-run not the short-run. It also has cost implications if the time taken to investigate abuse is significant. However, the time taken to investigate may be reduced if the OFT and CC do merge in the coming years.
· Are all cases referred? Some cases may go unnoticed and are not referred. If the case is not referred and abuse of market dominance is occurring then no action can be taken. This may be true in cases of 11collusion where the abuse is kept secret from consumers and authorities and is never reported. 
· Competition Policy only a short-term solution (other solutions available): the idea of regulating and investigating an industry is only going to work short-term. Longer-term policies about introducing new firms to the market or reducing entry barriers or promoting competition in general could be more desirable.
· EU vs. UK Issues: although the UK policies have been brought into line with the EU it is still true that the EU policy supersedes the UK policy. This can cause problems of who should sanction and who should investigate the abuse. Indeed, the more countries involved in the investigation the bigger this issue becomes and the more time it will take. 
· Regulatory Capture: there could be a worry that if the Competition Commission continues to investigate an industry they may get too close to the people involved and not be as objective. This may mean the wrong decision is reached and the public interest not protected 
· Information Problems: as with any large investigation it may not be possible to have all the information to make the correct decision. Information may be biased, incomplete or not available. Indeed there is likely to be asymmetric information with the CC knowing less about the market and the allegations than the firms involved. Any lack of information can lead to the wrong decision being made and the public interest not being protected. 
Case Study: The UK Bus Industry

Figure 1: Average fare and the number of national operators providing commercial services

The figure shows that there is a statistically significant difference in the mean between the two groups: £1.35 for LTAs with one provider and £1.07 where there are two or more providers.
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Extract 1: The Case of Cardiff Buses (BBC News, 2007)
Cardiff's main bus company has been accused of "predatory behaviour" in an investigation by the Office of Fair Trading (OFT). "Cardiff Bus is accused of providing a new no frills bus service which operated below cost and was withdrawn once 2Travel left the market," said the OFT. "The OFT found that the Cardiff Bus Company, which carries an estimated 80,000 people each weekday in Cardiff, used its dominant position to run its no frills services with revenues so far below costs that it was impossible for its competitor to remain in the market."
Extract 2: OFT Press Release (2010)
The study identified a number of features of local bus markets that could prevent, restrict or distort competition. These relate both to commercial services and services subsidised by local transport authorities. Issues include:

· a stable and concentrated national market picture where large national operators appear to largely respect each others' territories;

· the majority of local services, in many different local areas, being operated by a small number of large bus companies;

· complaints alleging predatory behaviour of incumbent firms designed to eliminate competition from new entrants; and

· low numbers of bids for supported service contracts in many areas, with just one bidder for a quarter of tenders.
Extract 3: Bus Industry Referred for ‘Overcharging’ (Guardian, 2010)

Bus operators face fare reductions, enforced sale of depots and constraints on service levels after the Competition Commission launched an investigation into the industry." There are a number of local areas where there is a single large operator that does not have a competitive constraint on it," said Peter Lukacs, the study's project director. Bus companies have raised fares by 9% in areas where they face limited competition, said the OFT. It excluded London and Northern Ireland from its investigation because they operate regulated services.

The industry, which handles 6% of all passenger journeys, argued today that the OFT had ignored competition from the car, which accounts for more than eight in 10 journeys. Bus operators are adamant that the biggest barrier to cheaper, more frequent services is the threat of congestion and competition from cars.

The bus industry trade body, the Confederation of Passenger Transport, called the OFT investigation a "wasted exercise" because it failed to address congestion, which it claims affects punctuality and increases costs by forcing operators to run more buses to maintain service levels, which increases fares. Chris Cheek, editor of the Bus Industry Monitor, said the OFT's findings would not help bus users. "Operators have to deliver the most cost-effective and efficient service they can. That requires reducing congestion, making services go faster and helping services to be as attractive as possible. Competition is irrelevant."

Extract 4: Bus Industry Competition Queried (BBC News, 2009)
The OFT said it had received some 30 complaints of behaviour designed to exclude rivals from the market since March 2000 - about one every four months. So-called predatory tactics can include upping the frequency of buses to "crowd out" rivals or timing buses to run just in front and sometimes also just behind a rival's buses. It also said bus groups could hit competition by cutting fares significantly or running buses for free, or by refusing to take part in multi-operator ticketing schemes to limit the scope for entry or expansion by smaller operators. 

John Major, of the Confederation of Passenger Transport UK, which represents the bus industry, said they would be studying the report. "Bus companies operate in highly competitive local markets and it is always in our interests to keep prices competitive to attract passengers out of their cars and onto our services," said Mr Major. "There is a great deal of competition between bus operators, large and small, although the biggest competitor for the bus industry is the car." 
To what extent does the evidence provided suggest that the UK bus industry should be sanctioned for not acting in the public interest? 

a) Dominance of Public Sector Corporations
Up until the late 1970s the Public Sector had a significant role in providing goods and services. Many of the industries that today are under private sector control were run exclusively by the state as public corporations. 

The reasons for this were: 

· Lower costs: due to economies of scale and less need for wasteful spending on competitive advertising 
· Better management & Social Welfare: those in favour of public ownership argued that these organisations would be better run than if they were privately owned, especially in terms of taking into account net social welfare 
· Control of Monopolies: one way to deal with monopolies is to put in under state ownership 
· Fairer Distribution of Income: the state could use the profits made to fund public expenditure projects to aid all in society
· More control for the state of important industries 
b) The Rise of Privatisation 

Following the election of Margaret Thatcher there was a significant shift in policy emphasis towards the belief in the free market and its efficiency at allocating resources. This led to large scale privatisation of many British industries in the 1980s and 1990s. Reasons for this include: 

· Lower Costs & Productive Efficiency: hopefully lower costs should result due to less X-inefficiency (synonymous with public sector organisations) where there is no incentive to reduce cost. Hopefully a privatised industry (even if it is a monopoly) would try and reduce costs (increasing productive efficiency) as by doing this they would make more profits. 
· Choice, Quality & Allocative Efficiency: private sector firms have an incentive to provide both choice and quality as if they do not consumers will switch to their competitors. Even if they were a monopoly they would still benefit from providing high quality and a large amount of choice as this should help them expand their markets and earn a higher margin. All this should improve their allocative efficiency.

· Innovation & Dynamic Efficiency: as with choice and quality private sector firms should have more incentive to innovate which should improve dynamic efficiency and consumer welfare over time. 
Further reasons for privatisation also include an improvement in the public finances in the short-term (from the sale of the public corporation) and in the long-term (as losses no longer need to be funded by the taxpayer). Also, there are arguably benefits from having a wider state ownership 
c) Problems with Privatisation & Need for Regulation 

However, there are several problems with privatisation: 
- The Problem of Privatised Monopolies & their inefficiency 
- Equity Changes: from changes in pricing structures & from share ownership
- Externalities: arguably private sector firms may lead to more negative externalities.  
The problem of private firms now holding dominant positions in UK markets following privatisation has led to the need for regulation of these firms to keep the public interest & prevent consumer exploitation. 

a
A natural monopoly occurs in an industry where LRAC falls over a wide range of output levels such that there may be room only for one supplier to fully exploit all of the internal economies of scale, reach the minimum efficient scale The minimum efficient scale (MES) is the scale of production where the internal economies of scale have been fully exploited. It corresponds to the lowest point on the long run average cost curve and therefore achieve productive efficiency The output of productive efficiency occurs when a business in a given market or industry reaches the lowest point of its average cost curve. Output is being produced at minimum cost per unit implying an efficient use of scarce resources and a high level of factor productivity 

The major utilities such as gas, electricity and water are often put forward as examples of industries with strong "natural tendencies" towards being a natural monopoly in part because of the huge fixed costs of building and maintaining nationwide networks of cables and pipes. In fact we can make an important distinction between the supply and distribution of services such as gas and electricity. The retail market for the supply of gas and electricity to homes and businesses is also fully competitive. However, the businesses which transport gas and electricity to the final consumer are closer to being natural monopolies. The industry regulator OFGEM regulates these companies through price controls and monitoring of quality of service.

The natural monopoly, through the exploitation of economies of scale, can in theory undercut any actual or potential rivals purely on the grounds of cost. If the monopolist loses market share (for example by the competition authorities acting to split up an existing monopoly) there is the risk that smaller-scale suppliers will produce at higher average cost Total cost = total fixed cost + total variable cost which would represent a waste of scarce resources. Forcing such a company to price at marginal cost Marginal cost is defined as the change in total costs resulting from increasing output by one unit. Marginal costs relate to variable costs only. Changes in fixed costs in the short run affect total costs, but not marginal costs would also inflict inevitable losses and threaten the long term financial viability of the supplier.
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Introduction 

Privatised industries, such as the utilities, have regulators in charge of them. For example, OFWAT in charge of the water industry and OFGEM in charge of the gas and electric market. 

The Role of the Reuglator 

Regulators of privatised industries have many related roles:

· Preventing the abuse of market power: the regulator must try to ensure that there is significant competition in the market as possible to ensure firms have little market power. However, the regulator must ensure that if it is not feasible/sensible to introduce competition to a privatised industry (possibly due to being a natural monopoly) the regulator must ensure that the dominant firm(s) do not abuse their market power e.g. by significanctly raising price. 
· Protecting the public interest: therefore the regulator is ensuring that firms act in the public interest. Firms acting in the public interest includes factors such as promoting competition, keeping prices low, high quality and a significant amount of choice between products and services. 
The Tools of the Regulator

The regulator can use the following tools to try and prevent the abuse of monopoly power and to protect the public interest: 

1. Price / profit limits: putting limits on price or profits earned by privatised firms

2. Performance targets: such as on service reliabiltiy or customer service 

3. Withdrawal of contracts: e.g. railways could be removed from their route if they are not acting in the public interest 

4. Increasing competition: by lowering entry barriers and encouraging new firms to enter the market or via franchising agreements.
5. Fines and punishments for anti-competitive practices 

Introduction
There are several different methods used in the UK to regulate privatised industries and you need to be able to examine their strengths and weaknesses. These methods of put in place by regulatory bodies such as OFWAT and OFCOM.   

a) Price Capping
Price capping is a system where the regulator sets a limit on price increases in an industry for a set period of time. There are two main examples of this: 

· RPI – X: this means that the privatised firm can increase their prices by the rate of inflation (RPI) minus the perceived efficiency gains (X) that the regulator perceives possible.
a
For example, if RPI inflation is 3% and the regulators believe that the firm should be able to cut costs by 2% (X = 2%). Then the firm can increase prices by 1%. However, if the perceived efficiency gains were 5% (X = 5%) they would have to cut prices by 2%
· RPI + K: this means that privatised firms can increase prices by the rate of inflation plus K (a capital requirement). This has happened in the water industry where the regulator wanted an increase in investment to improve the standard of water services in the UK 
a
For example, if RPI inflation is 3% and the ‘K’ allocated is 2% the firm would be allowed to increase prices by 5%. The price increase is to help cover the cost of the capital investment required. 
	Advantages
	Disadvantages

	RPI – X: there are incentives to lower costs. If they lower cost by more than by X then they will in theory make higher profits. However, if they do not cut costs they will be faced with lower profits or losses. This means there is a continual incentive to cut costs with benefits for productive efficiency.


	Setting the level of X in RPI – X formula is crucial to setting the right incentives for firms. This is difficult to set exactly right especially due to imperfect information  

	RPI – X: can also lead to allocative efficiency if they lead to lower prices. This will make price nearer marginal cost.  
	Industries may focus so much on the RPI – X target & cost cutting that they may neglect allocative efficiency in terms of quality of service and meeting consumer needs 



	RPI + K: with the RPI + K formula the regulator can encourage capital investment to improve the service in the longer term, improving dynamic efficiency

	Setting the level of K in RPI + K formula is crucial to setting the right incentives for firms. This is difficult to set exactly right especially due to imperfect information  

	
	There is little incentive to be productively efficient when firms are able to keep increasing prices without a ‘– X’ in their formula. Firms may also be allocatively inefficient as prices rise above MC and quality of service may suffer. 




b) Performance Targets 
Performance targets are “targets set by the regulator for the privatised firm to meet which are generally aimed at improving the service for customers.”
For example, Postcomm has set targets for the Royal Mail such as 92.5% next day delivery for First Class mail and having not met this target it was duly fined £7.5 million. 

Furthermore, train companies will have performance targets such as punctuality of train services and the % of railway stock that is new and updated.  

	Advantages
	Disadvantages

	Targets can be used to try and improve the allocative efficiency of firms in the short-term
(i.e. improving customer service) rather than waiting for long-term improvement as with RPI + K.


	Possible need to sacrifice profits and productive efficiency (as costs may have to rise to meet these targets) in order to achieve the performance targets. 



	Targets may also encourage firms to invest in better quality technology or techniques which could improve dynamic efficiency in order to meet these targets. 


	Correct Targets? Just as with the price capping formulae will the correct targets be set for the firm that will maximise consumer welfare and the public interest, especially with imperfect information.  


c) US Style: Rate-of-Return Regulation

In the US regulation comes from state or federal Government through regulatory commissions. Unlike the UK the main focus is on rates-of-return (or profits) rather than price. The system involves limiting prices to a level that gives normal profits i.e. the price will be set equal to average cost, where AC includes a fair rate of return on capital. This should mean lower prices than if there was no regulation and improved allocative efficiency.  
The system however has been criticised as encouraging inefficiency:

· Prices are set to AC not the socially optimum MC, meaning allocative inefficiency will persist.  
· There is little incentive to introduce new cost saving technology as the regulator would insist on lower revenues and lower profit, meaning dynamic inefficiency. 
· There is also an incentive to let costs rise such as salaries and luxury offices which can simply be passed onto the consumer in the form of higher prices. This means X-inefficiency. 
· There is also no reason to attempt to lower average cost as any extra profits will be taken away, causing productive inefficiency. 
The response of US regulators has been to make the system more flexible. The system is therefore becoming more like the UK system basing prices on reasonable rates of return, taking into account cost reductions. If utilities reduce costs they can keep extra profits. However, remember that the UK system still has its disadvantages.
d) Threat of fines 
The regulator can threaten to fine companies who break the law. This occurred with UK supermarkets in 2007 who paid £116m in fines for fixing the price of dairy products in a scandal estimated to have cost consumers £270m.
Advantages

· Threat to firms to not take advantage of their market provision

· Fair compensation for any abuse of the market

Disadvantages

· The process to decide on a fine can be lengthy. It took Microsoft 10 years to be investigated by the ECA in terms of abuse of it’s monopoly power before being fined.
· Fines are not enough?  Supermarket fines of 2007 were £116m yet they allegedly cost the consumer £270m…were supermarkets fined enough?

(e) Windfall taxes
Regulators could chose to impose a windfall tax on excessive profits, which would encourage the monopolist to reinvest its profits, rather than distribute them to shareholders. This tax would not alter the output of the firm; hence consumers would not suffer from falling output.
Examples of a windfall tax occurred when New Labour came into power in 1997.  They imposed a levy on the privatised utitlities because it was argued that they had been sold off at too low a price during the Conservative Governments from 1979 to 1997.  The Government raised £5 billion which was used to fund the ‘New Deal’ welfare program to get the long term unemployed BACK into work as well as providing investment for schools.  Another example was in 2009, Alistair Darling introduced a 50% tax rate on bank bonuses of more than £25,000. The bonuses would be paid by the banks rather than employees.
Arguments for Bank Bonus Winfall Tax

 •There has been a sharp increase in income inequality in the UK, in the past two decades. (see: rise in UK income inequality) One of the main driving forces has been the rise in wages of the highest paid 1% and highest paid 10%. This tax helps to redistribute income and reduce government borrowing

 •Banks have benefitted from government intervention which rescued the banks during the credit crunch. Without the taxpayers intervention, all banks would have suffered, and may not even be in existence.

 •Diminishing marginal utility of money. Bonuses of over £250,000 show that bankers are gaining much more income than they need for essential spending.

Disadvantages of Bank Bonus Windfall Tax

 •May encourage banks to set up in other countries with lower tax rates

 •The disincentive to work and operate in UK may lead to a fall in tax revenues.

 •Promoted by envy, but doesn’t address issues of inequality

General Problems with Regulation 

Regulating in general, either through price capping or performance targets, has problems: 

· There is a danger of regulatory capture. This occurs when regulators act in the industries not the consumer’s interest, possibly due to regulators getting too close to industry managers. 

· A lot of power is given to a regulator who is unelected and largely unaccountable.

· Cost of monitoring: if the regulator is going to enforce the price caps or set performance targets they need systems in place to monitor these industries. However, this takes a lot of time and money to do effectively, if it even can be done effectively given information problems. 

Deregulation & Increasing Competition 
Regulation has been progressively abandoned (for some of the reasons above) as competition has been attempted to be increased in privatised industries. Deregulation is when Governments removes official barriers to competition. Approaches to increasing competition (deregulation) include:

· Restricting the behaviour of established firms to prevent them using entry barriers to prevent entry by new firms

· Separate the ownership of the grid from the supplying company. 

· Use of franchising e.g. railways 

· Giving all companies equal access to infrastructure e.g. grids. 

Monitoring of Prices  
Price monitoring is a shift away in policy away from tight regulation to ‘light-touch’ regulation, linking with the ideology of less regulation and relying on encouraging competition. Price monitoring is most likely (to be effective) when the regulator believes that competitive is believed to be effective (through deregulation) and less regulation is therefore needed.   
However, many privatised industries are still dominated by large companies. This gives regulators a job similar to the OFT: preventing abuse of monopoly power (although the companies do get a right of appeal with the Competition Commission).  

	Advantages
	Disadvantages

	Less strict regulation could lead to dominant firms charging higher prices and more profits available for investment & dynamic efficiency. 
	Arguably if there is loose regulation which has little enforcement practices this could allow private firms to remain inefficient & exploit consumers, especially if there is no effective competition in the industry:

· Productive inefficiency: is there an incentive to cut costs without regulation?

· Allocative inefficiency: will firms act in consumers interests without regulation?  

	If regulation is ineffective due to regulatory capture, excessive cost & being unaccountable then it may not even be worth having tight regulation; this is an argument for price monitoring. 
	

	If competition is effective in the industry there would be little need for regulation and competition should encourage allocative & productive efficiency 
	

	
	If there are still dominant firms using anti-competitive strategies there is still a need for monitoring which leads to similar problems such as cost of monitoring & enforcing firms. 



Introduction

In recent years the Labour Government has been utilising the private sector in the delivery of areas usually confined to state provision. There are several different types of private sector involvement

a) Contracting Out and Competitive Tendering
	Contraction Out
	 “Getting private sector firms to produce goods and services which are then provided by the state for its citizens” 

	Competitive Tendering
	 ““introducing competition amongst private sector firms which put in bids for work which is contracted out by the public sector”” 


So the Government has contracted out some public sector goods and services to the private sector. For example, the Government has never made the sheets used in the NHS or the tanks used in the British army. During each contract the Government will write the specification of what is required and then every firm will place a bid and the lowest bid wins that contract. The Government will try to ensure that there is competition between the bidders so that they compete with each other in order to get the cheapest bid possible for the contract: this is called competitive tendering. 

The Government will want to avoid collusive tendering. This is where a small number of bidders work together to increase the price of the winning bid. They may split up the different contracts between them and then agree to not bid (or not bid competitively) for each others’ work. This will clearly disadvantage the Government in terms of the final cost of the contract.   

	Advantages
	Disadvantages

	+ Competition spurs productive efficiency amongst bidders whereas Government provision is often bureaucratic and inefficient.

+ The Government (& taxpayers) therefore save money as a result 

+ Government can focus on specification of project rather than how to provide it 
	- Business may fail to meet contract specifications  e.g. Warships

- Need for several bids to ensure competition 

- Danger of collusive tendering 

- Productive efficiency may come at the expense of workers (lower wages to lower cost of bid)


b) Public Private Partnerships and the Private Finance Initiative
	Public Private Partnership (PPP)
	 “Public Private Partnership, where the public and private sectors collaborate to deliver goods and services” 

	Private Finance Initiative (PFI)
	“Private Finance Initiative, where the private sector builds and maintains infrastructure like hospitals and leases it to the Government”



Public Private Partnerships (PPP) is a broad term for when the private sector collaborates with the state. Contracting out and competitive tendering can be examples of PPP. However, the most common form of PPP is the Private Finance Initiative (PFI) where the private sector has been involved in hospital building and maintenance in recent years. 

The process is summarised below:



	Advantages
	Disadvantages

	+ Private sector expertise allowing quality at low cost and on time. 
+ Services guaranteed for the length of the contract (e.g. 20-25 years)
+ Government focus on specification not delivery

+ Innovative approaches due to ideas from both private & public sectors

+ More affordable for the Government in the short-term (no up-front cost) therefore lower opportunity cost and tax burden 
+ PFI contractors should pay tax and must pay for over-runs, reducing cost for the Government. 

	- Long-term cost of leasing 

- Poor public sector negotiation could lead to waste of taxpayers money

- The level of service may be inadequate despite targets in place

- More expensive borrowing by private firms (compared to the state)

- Impact on workers of productive efficiency gains (lower wages)

- Need to have risk for private sector. If the project fails the private sector should lose out financially but often the contract is written so this is difficult. Therefore less incentive for private sector to deliver effectively. 



More details: http://news.bbc.co.uk/1/hi/uk/1518523.stm
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SEMI PRIVATISATION:


Private Sector Involvement �in the Public Sector





Service Delivery & Leasing





Company builds hospital





Maintenance of hospital





Government pays leases hospital from the company





Competitive Tendering





Bids received by Government





Preferred bidder chosen 





Final negotiation of contract





Government Writes Contract


The Government writes the hospital’s contract specifying details such as what needs to be built and by when, the maintenance agreement and the length & payment of the lease. 
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